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RRB Secunderabad Junior Engineers Exam
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: -t . Q &
lf \]'un iﬁ (.h('ln‘}.\‘ 201 ('h(‘tnﬂ ag}d ]{ﬂ\’lta are blStCTS. y \
the son of Jyoti, then By le of Arun

(A) " Parth and Arun are cousins , Ssipend
| a § més
(C)  Kavita is Arun's grandmother (D)

Parth 18 maternal unc i
ternal uncle of Kavita
» -

Find the next number in the series :

R Lo LA \ e .
10,100, 200, 310, . 5y 450
(A) 430 (B) 510 () 400 (

. % Ve e
A man is facing North. He starts walking on a circular path, completes 3/4" of the cirek
and takes a rigixt. turn. Which direction is he facing now? ;
(A)  East (B)~ West (C) North (D) South
0

(A)  SDFHS (B) UJHFS (C) QDFHS. (D) SHFDQ.

Find the number that will replace the

1,2,'8758713,
a 20 B) 21 € 22 D) 23

How many cubes are there in the figure?

6 B) 8 © 9 AD) 10
Ramesh goes 4 km South, then 8 km West, then 6 km North. t : ag X
1 km South, How far is Ramesh from the starting point? L b e and then
_ Ry | r
(A)  2km (B) 71 km (C) Okm (D) 8km
7

‘Crime”is related to ‘Court’ in the same way as ‘Disease’ i related to
(4)  Doctor (B) Hospitgl, - (©) M?diCiﬂe | (D) Punishment

Two tangents are drawn to a circle “o‘f-- iu &
. . R . ‘radiu Y 'I‘rh ‘
other. What is the distance between the two t:nlé(;::o sHeengents are parallel to each

@) 10¢m | (B 20 on Ao e o M) 1043 em
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the fallowmg
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9l leeu wall (@) Animal cell
”l.-.? | 1) Plant cell -
QIATP | ) Mitochondrjzr
i ‘~ e (b) Genes

B) 1-(a), 2-() () 1-(b). 2-(@) (D) 1=(b), 2-(b)

s%,s and Dendrites are associated with .
..ﬁébl‘tex (B) epithelium
?Lfeﬁna (DL nerve-cells
\:3‘ . : ¥ : L |
sue that connects musele to bones in humans is called s
.xTendon o (B)! .Fxbx- G (C) _.'Axon AR AR (D) mFemur

1S

qn populatxon of globe is approxlmately ;
‘ ' | (B) 600 nulhon A

(D) bxlhon
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19.
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In the circuit given
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R, Ky popresents

_—

The formula = R +R, . (B pﬂrﬂll

ar {:t}nﬂectm“

ol connection

(A) series connection D) line

(C)  bridge connection

resista

s the current flowing in the 6 €2
6.€2
A

below, what 1
2Q
2 Q% % %8

MRS

10V =

| o)
=1
|
N
=

©) 222A D)

(A) 0.22A (B) 0.55A

A transformer core is made of laminations
(A) toincrease the electrical conductivity of the core

(B) to increase the permeability of the core

(C) to reduce eddy currents”
(D)  to increase eddy currents and improve efficiency

Domestic supply of electricity in India is 220 V AC. 220 V refers to the
the voltage. |
(A) rms value /”
(C) mean value

(B) peak value
(D) minimum value

In a given AC circuit there is.a phase difference of 7/2 between current and voltag
When the current is at its peak voltage 1s zero. The circuit is
(A)  resistive (B)~ inductive
(C) capacitiveq” | (D) can't say

An unknown DC vnltage is to be measured. Whlch measuring range in the multimete
will you select first?

A) 500V (B) 50V © 5V . D) 05V

The earth conductor provides a path to ground for
(A)  ecircuit current”

(C) overcurrent (B) eakage current

(D) high voltage

TSD001214 v,
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Des ’bﬁt}vwn'm‘vo buildings is 100 m, A surveyor is standing st & distunce of 10 m
. _.t.aue;r 't{mlding-on,:a line joining them. If the angle of elevation measured by fum
ler building is 1.5 times the émgk! of elevation of the smaller butlding, whot s

(B) 4567 m |
(D) Data insufficient i \

Ng A low resistance in parallel with the galvanometer
L_ajsing;the--n'umbet* of windings of gal ranometer coil
reasing the number of windings of the galvanometer coil
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R4 "
‘f :“’;',‘.r a¥ . . B
; gmference of a cirele 1s incre

If are
. s A v

5% (3 10% (C) 20%

ased by 10%, the area of the circle will increase by
(Y 21%

4 wire. Out of the following, which

eter can be assumed to remain the same?

. 5:‘?6}‘1")9" (B) cross-section area a
length M) diameter

-

Do St B e
*\)(-'(’t‘ :’.',..&': T'J

-»

'}

r

"::' A | 2 R 7 s T v | 4 xr3x2 P
(B) Tt ~ (€ = . 52 » 51 x 50

a )sthe probability of getting 3 aces if three cards are drawn t_‘rom a set of 52 plaving

55 of 40 students, 95 are spol"ts'Apefrébhé?hhd 25 are *mgth"efmati‘cia'n& W}.xa‘t ";‘h‘
probability that the monitor of the class is both a sports person and a mathematician<
(] " r'- '] &

RTOREE A Tomee :'f.‘--"_ win ks W ...1...

: » . o 3 3 ~

pumbersiis 16 and sum of theix reciprocaled 756

5 . N Sl e -
. g )/ Y B e, A B ; A ) » s o .
i ) .'v‘_" R ] - Y, RS SRR R , . N N v 7 ] 8 < AL A X
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ar weight 18 low and
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y ed 5 fragrances Whe'n ‘n]'e sel'iesv 18 called
50 A class of compounds which 8L ulicular weight 18 high in £ ounds
5 - 3 e . The 10 . 1
naturally occurring fats when 1 (B)/ aromatic comp
(A) amno acids (D) Organic acids
(C) esters
: m and 7 worky
‘stance between them 18 respcctwely M,
51.  If the mass of sun, earth and dista A ound the sun 7
done by the sun’s gravity on earth for one L X GMm , .
09 3
(A zero e r
v

. @ The choke of a tube light works on the principle of
(B) capacitance

(A) bi-metallic

(C) inductance 4 (D) ionization

what is the acceleration of body with mass m,, given g 18 the

53. In the figure below,
ooth)

acceleration due to gravity (assume pulley and surfaces are sm

. mi
ma2 l,
@ g7 ® il , (O L0, ) m, e
Inl. m, . n, +'n2

Which of the following atatoments 18 ¢orract?
(A) ~ Speed of light in \.racuum 18 3 x 108 m/s
(B) Speed of light is different‘for. different colours
(C)  Speed of light is different in different media
(D) All of the above? Es

TSD001214 . ..
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6. A fuse should be connected in ~— in the — conductor.
. (A) ‘Series, neutrg] (B)~ series, live
series, nve
x(C) parallel, neutra) (D) parallel, live

‘?qux/pmem earthing gives protection against
(A) voltage fluctuation (B) overloading
electric sh : : _
(C) , ocks (D) high temperature of conductors

8 égenerator 1S rated 2 KW 200 V D.C. It can supply load current of
.?,.('A) 4000 A (B) 100 A (C)- 10 A D) 4A

{5
-
A

Q. ‘ﬁ-f he term PCB stands for

\\\\\\

\ b Ay

’:@) P Olyethylene Card Board (BY~ Printed C'ircuit Board
(,G) ~ Printed Card Board (D) Polythene Circuit Board

Brown, Green, Brown '(B) Brown, Green, Golden -
@) Brown, Golden, Green (D) Brown, Golden, Golden
%)

] “‘

an mductor and a capacxtor (B) an_mductor and a resistor
two inductors (D) two capacitors

air n element of a filter circuit that reduces the A. C eomponent of the output is

resxstor

w)’wpmr L

.' *p ﬂ (B) no feedb’ack is used

(D) mpubvolt'age xs varied
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Which of the following stﬂtenwr; ;
(A) Microsoft windows is GU
o ey | |
(13) Linux 1= GLUI i ﬂm.cd o i .

More than 5000 kI3 dat sach of gize 1 MB

(C)

' 1ion files
;M A1TB flash drive can store 2 mill

th
aid to exist or he drawn ina

How many lines can be s
each other?

mutually perpendicular to
(Ay £
(C) 4

(B) 7 3
(D) 8

w. What is this object?

S ot is given belo
A third angle orthographic projection of an object 18 §

]
[]
[ |
|
i
L]
.....
..... @
I
i
i
]
L]

(A) Triangle (B) Trapezium
(C) Cone (D)~ Frustrum of a cone

In an engineering drawing it is written scale 1 em = 100 m. Which ratio does 1t
correspond to?

(A)  1:100 . (B) 1:1000
(C) 1:10,000 7 (D) 1:1,00,000

In machine drawing, a ‘sectional view' cut portion is shown by

(A)  diagonal hatching (B) dots
(C)  cross marks (D) red colour
70.  For complete description of a component :
» 4 ma
how many orthographic projections? chine drawing would e minimutt
@ 1 ® 2
© 3« ®) 4
TSD001214
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1 rakad dam has been built on the river
(A) Cauvery (B}~ Mahanadi
©) (D) Yamuna

'ietaewed the first Nobel prize in Physics in India? | | |
A)  Dr. C.V. Raman ~ (B) Dr, Hargobind Khurana
: | (D) Prof. Narhkar

f the following books was banned by all Muslim countries and India®

- ffheShame W achin (B) DiSCovex_'y'oi;In&ia
‘ (D) Beyond Expanse

L0
e

in Indian context, isa 3 §

S 2 : |
anagement Development Programme

AV
ANV
‘éﬁ s —
) e Ll B
3) KfonetaryPohcy : :
)i DA ARERLIN,

v v TGS

- v

’ ".
'l_a

e

; : ﬁ
A. > "N
Al
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8 a«
speed of charged pamcle increases in a cyclotron, (choosc True (T) or False (F))

_ the particle moves to larger circle
) ‘.. them 18 relativistic change in the mass of the partiéle
~ frequency of the cyclotron has to be adjusted

E,F*.F (BY oD P AT WA ‘I‘.F.T

\:‘b‘;!, L
3

.

o

: th“m"d’:mmc system, a process in which volume remains constant is called
rocess.

J. isobaric . B)  isometric
gisadiabatic (D) isentropic.

't_‘,: of performance ofa commercially. used ;efngerator would be close to
(B) 85% (c) 5 i ot Dy 35

f'_’annc Bysbem3 3thermal athbnum xg-gchlgved wben two bodies reach

rmal energyg

\!

.....

"""""
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r!‘his circuit is can ed a
(A)  Halfadder
{C)  Bit counter

| Be"ﬁorgan's theorem s
@ XY=y

98 InBoolean algebra (%

‘s y .

bo

called

nd in a brick w

o
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t s floating point with reference to computers?
(A)  Itisa software subroutine around which other subroutmca are built
(B) /It 15 a representation of real numbers ta facilitate computing
g It 18 the main algebraic formula of the software
} f i ﬂ) ‘ It« ;_s_}he voltage point given to various operating units of the computer

: '._\E.Qihi;"of'digithl rules for exchange and processing of data between various devices 18
(B) algorithm

software programme
(D) information processing

‘ protoool/

(ouc
R ‘\. nbemor

_Jfape calculator/ 3 '.,:'(B),- Babbage machine

...... (D) ~-‘Tﬁe;s§§5¢amacmne

T
.
o " -
. '_-.
\

Eﬂgl:qh alphabets and symbols for computer use.
d which allocates code to almost all t.he

........
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e sotion pertains o

@ Soctlon66Ah33f b
(A)  Communal
(C) (‘.OMPalifé \

112, IPC stands for X
(A)  International ;{7
(C)  Indian Penal Cod

l‘. AN

)the public, as 41,

113.  Who among the fbll6 Vi
n financial transacnl‘” " 20N 2y Firm:
(A) Indl\’ld“als '::gl" o i A 5 ‘ N mnme ¢ \

115. In Sept. 2014 lSRb"ﬁ?‘ chiey

116 In October 2014 a cyc t Vishak atnam. The name of the cy clone was
(), Kauing - SEI ~ (© Lailk " (D) Helen
.ji "4 ; . e

- 117. SAARC oountrxes are
| (A)  South Amenca ‘,
(C) South Afnca '_

‘) Qh has as many et
r éllsh alphabet?

™ o

e, (A} Apnl
| (D) November
P o
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121

122,

124.

125.

.::.?j ‘J{ .'_.* I] ]__.,_ r-l -I- r 1"’.,;:_’_*

{ﬂs.j 15
(I3 20 (Cy 17 (1
ey

tan 907 18 unde fir
i 1{_.{1 As s INcres =g ,,;| h” 11 RO tow IIE{H gy v ligee af van ¢ tonds U,

A 0
(4) (13} +&/ L | (D) undefyned

A man sells s
ar he loae lﬂft“ﬁlall‘- at the same price. In one car he makes o profit of 107 In other
o o over the cost price. His total gain or loss pereent is

o
(A) 1% loss .~ (B) 1% pain
3o -
(C) 2% loss ([} Noloss no gan

1,

V10 =3.1623 (approx.). What is the approx. value of =
410

(4) 0333 (B) 03162,  (© 0322 (D) 03437

A student was asked to multiply a number by 12. By mistake he multiplied the number
by 21 and got the answer 63 more than the correct answer. What 1s the correct answer’

A 9 (B) 8 (C) T£ (D) 814 -~
Consider the following graph :
A -
) —D
a !l A
5
" >
(Calorie) heat —>
Which portion represents the ‘Latent heat of fusion’?
BC (Dy CD

(A) OA (B). AB (C)

Which of the following does not sublimate?
(B) ~ Ammonium chloride

(A ee
(D) Camphor

(C) Naphthalene

g is a heterogeneous mixture?

Which of the followin o
. Brass ~ ’ (B) Sugar solution in water

g pj,- (D) Milk

| TSD001214
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131.

g mixed
irol amnlli"*ﬂd ﬂn gfhnd“f
In a scoater, in which part is the P& (B ﬁ‘ﬁefl.lim'ﬂl??:
(Ay  Carburettos” () '
N (i (1 - ]
(L) Inlet port d.dmi S-Pr;nﬁﬂ'
! gk B
: aking Jeat = “am
Which alloy steel would be used for & 3] \fﬂnﬂﬁh- I denuill
. (B2 © o Tmolybae
(A # Nickel-Chrome e (Chroms
() Sihicon-Manganese . the melty
! hrougit B e
. n are P
In aluminium casting bubbles of argen or II““'DE-
(A)  toimprove surface finish of the casting
{B) to remove hyvdrogen gas porosity
() to precipitate the inclusions
(I to mix the alloy elements
Clearance between the mating parts s measured U g
{A)  Dial gauge [B] Gﬂ'«ﬁuga i,
(D)~ Feeler gauge

(C)  No-go gauge
+

In a milling process, for milling mild steel, 'ﬂﬁ'ﬁt‘:wm’.::%'-~ﬁ' typical rake angle for
cutter? : iy,
(A) 12 (B) 20° (©) 28° (D) —12°

State True (T) or False (F) respectively :
1. For better tﬂﬂfi]'ﬂ stre ﬂgth, cast mmmﬂﬂnti&ﬂmfﬂrdeEr fﬂrg&d ﬂﬁﬂl}]ﬂnﬂﬂt
2. uenching of hot iron component in water 'imprwﬁ'gfiﬁ e atility

Ay T.T (By FF ; ik
{G} T,F | {D} F, r['|
134.  Channels, Angles and I-section which 5 :
- are used in fabpicas:
manufactured from blooms using the Process of _“I fﬁhﬂﬁﬁtlng a shed structure frame,
(A)  casting - el
(C)  swaging ff[B;; drawing
rolling
135, Output of a welding transformey. compared
. - w w i
(A} high voltage high current {1];11 its ‘.1.1?1!1_:'13
©) low voltage high current / m; hlgh ""ﬂltage low current
| :
TSD001214 o Vﬂlt_age low Current
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®) 'rhermolyssa
(D) Catagenesis
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